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Question Number : 1 Question Id : 70819119384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f e is the electronic charge, c is the speed of light in free space and h is Planck’s constant, the

e -
quantity ——— —— has dimensions of :
© o dmeg hic

Options:
f (
70819163301, M LTI

/ 1
70819163302. Ll

a7 0 )
70819163303, [M° LY T]

—~ =]
70819163304, - €]

Question Number : 1 Question Id : 70819119384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
f (
70819163301, M LTI

/ 1
70819163302. MLE

a7 070
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70819163304, - €]

Question Number : 2 Question Id : 70819119385 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A stone is dropped from the top of a building. When it crosses a point 5 m below the top,
another stone starts to fall from a point 25 m below the top. Both stones reach the bottom of
building simultaneously. The height of the building is :

Options :

70819163305, > m

70819163306, 25 m

70819163307, 2° M

70819163308, 2V m

Question Number : 2 Question Id : 70819119385 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819163305, ¥ m

70819163306, 29 m

70819163307, >0 M

70819163308, 20 m

Question Number : 3 Question Id : 70819119386 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A sphere of radius “a” and mass ‘m’ rolls along a horizontal plane with constant speed Vg It
encounters an inclined plane at angle § and climbs upward. Assuming that it rolls without
slipping, how far up the sphere will travel ?

ta%"vﬂ )

Options :

2
[JD

70819163309, 28 Sind

IJZD
70819163310, -8 Sin

70819163311.
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Question Number : 3 Question Id : 70819119386 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819119387 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point A moves with a uniform speed along the circumference of a circle of radius 0.36 m
and covers 30" in(.1s. The perpendicular projection’P’ from ‘A’ on the diameter MN represents

the simple harmonic motion of ‘. The restoration force per unit mass when P touches M
will be :

(.36 m

M

Options :

70819163313, 100 N

70819163314, 287 N

70819163315. 20N

70819163316, 029 N

Question Number : 4 Question Id : 70819119387 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819163313, 100 N

70819163314, 287 N

70819163315, 20N

70819163316, 049 N

Question Number : 5 Question Id : 70819119388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thermodynamic process is shown below on a P-V diagram for one mole of an ideal gas. If
V,=2V, then the ratio of temperature T,/T, is :

Pt 1(Py, V1, Ty)
1
Py 2 = constant
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70819163317.

70819163318. V2
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70819163320.

Question Number : 5 Question Id : 70819119388 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

"
70819163317. V2

70819163318. V2

1
70819163319, 2



70819163320, 2

Question Number : 6 Question Id : 70819119389 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  In a diatomic molecule, the rotational energy at a given temperature obeys
Maxwell's distribution.

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature equals
the translational kinetic energy for each molecule.

[n the light of the above statements, choose the correct answer from the options given below :
Options :

70819163321. Both Statement I and Statement 1l are true.

70819163322, Both Statement I and Statement 1l are false.

70819163323, Statement 1 is true but Statement 11 is false.

70819163324, Statement 1 is [alse but Statement 11 is true.

Question Number : 6 Question Id : 70819119389 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819163321, HI@OAUM I Do (admimocum 11 o vodl@oen.

70819163322, (HM@IQUM I fo (almimocum 1l Ho H®EIEM.

70819163323, ldi@ocum 1 (oAl@Iem’ aleidhd (almimocum 11 emEoen.

(di@mocum I empoeny alexsst (admiamocum 11 voedl@osn.
70819163324.

Question Number : 7 Question Id : 70819119390 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical springs of spring constant ‘2k” are attached to a block of mass m and to fixed
support (see figure). When the mass is displaced from equilibrium position on either side, it
executes simple harmonic motion. The time period of oscillations of this system is :

o o
4
7 2K - 2% /
L wmr—  —osmsmn—Y
4 %
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Options :
. G
T2k
70819163325.
L
70819163326. .
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"Vx
70819163327.
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70819163328.



Question Number : 7 Question Id : 70819119390 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819119391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y =Asin(wt + dy) is the time-displacement equation of a SHM. At t=0 the displacement of

A
the particle is Y= . and it is moving along negative x-direction. Then the initial phase

angle g will be :



Options :

L
3

70819163329.
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70819163330.
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70819163332. g

Question Number : 8 Question Id : 70819119391 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819119392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A charge ’q' is placod at one corner of a cube as shown in t’igure. The flux of electrostatic field

-

E through the shaded area is :

AL

X

Options :

70819163333, B0

70819163334, €0

Siﬂ
70819163335.

70819163336, ©

Question Number : 9 Question Id : 70819119392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819119393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron with kinetic energy Kl enters between parallel plates of a capacitor at an angle
‘o’ with the plates. It leaves the plates at angle 'p" with kinetic energy K,. Then the ratio of
kinetic energies K 1 Ki, will be :
Options :

.CL’}S[_JI

70819163337, 05«
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70819163338, Sina

aﬁmzﬁ

COs o

70819163339.
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70819163340, % ©

Question Number : 10 Question Id : 70819119393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819119394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

In a ferromagnetic material, below the curie temperature, a domain is defined as :

Options:

70819163341, 2 macroscopic region with zero magnetization.

70819163342 a macrogcopic reginn with saturation magnmizatir}n.

70819163343 a macroscopic region with randoml}-' oriented magnetic dipnles.

70819163344, & MACroscopic region with consecutive magnetic dipoles oriented in opposite direction.

Question Number : 11 Question Id : 70819119394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} Hane0mNHMEld alrod@momiild, &dl moalradss ®oey, 80} CanRHD
midouaflafldlenyme

Options :

ali®@\o SHINmOUMHNmEMo &0 MNeImel (moeEhIMIGaialls) nleae @pWeM
70819163341. & 298 80 My e ) €

al)@Blm SHonmeUTenem 6] MUOJLIMAl (A lCBUl0 @DWOET)
70819163342 o 988 6] qunj ( @D

@aeadloacdl allmymilena |5 $000H HeWEIRIHND HER BO) MOJeIMEl [@IEAM0

1]

70819163343, @OWIEM

@OSIODSOM 188 SO HOWEIIBIHRD afd@lddlnadld @aladalges ao)

70819163344, TUDEIMEI (aIEBM0 ERHWIEM

Question Number : 12 Question Id : 70819119395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

An LCR circuit contains resistance of 110 ) and a supply of 220 V at 300 rad/s angular
frequency. If only capacitance is removed from the circuit, current lags behind the voltage by
45", I on the other hand, only inductor is removed the current leads by 45° with the applied
voltage. The rms current flowing in the circuit will be :

Options :

70819163345, 1 A

70819163346, 1.5 A

70819163347, 2 A&

70819163348. 23 A

Question Number : 12 Question Id : 70819119395 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819163345, 1 A

70819163346, 1.5 A

70819163347, 2 A&

70819163348, = &



Question Number : 13 Question Id : 70819119396 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The stopping potential for electrons emitted from a photosensitive surface illuminated by
light of wavelength 491 nm is 0.710 V. When the incident wavelength is changed to a new
value, the stopping potential is 1.43 V. The new wavelength is :

Options :

70819163349, 209 nm

70819163350, 329 nm

V.
70819163351, J02 nm

70819163352, 400 nm

Question Number : 13 Question Id : 70819119396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

491 nm oNOOBDLYNER (aldhI0do OIS, HCUE 2o HBISIEM B} Gande50 af)dlaumd
paldlmamiad oo geldsonalg MeimesIemdaes eguoallory Halogaye 0.710 V
@Y. al®M BRoWaHeBDR)e aljdlowon) alladfeads mogiemioi, egyoallowy
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Options :

70819163349, U9 nm

70819163350, 329 nm

.l
70819163357, 02 nm

70819163352, 400 nm



Question Number : 14 Question Id : 70819119397 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the diffraction pattern obtained from the sunlight incident on a pinhole of diameter
0.1 pm. If the diameter of the pinhole is slightly increased, it will affect the diffraction pattern
such that :

Options :

70819163353. s s1Zze InCreases, and I.TIT.EI'[SIT.}" INCreases

70819163354 its size increases, but f_ntensit}-' decreases

70819163355, its size decreases, but intensity increases

20819163356, its size decreases, and intensity decreases

Question Number : 14 Question Id : 70819119397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819163353, mm«:m’ls}r@ meﬂgm&o @lue®le cudadlaanymm).

70819163354, F0TOR Aellgjo ABALENIMY, albd @I &HOWIM]

20819163355, @pailen aellajo H0WIM), aleds @l udadlenimm)

70819163356. @oailon cellgjalo dliummio @lowymy



Question Number : 15 Question Id : 70819119398 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An electron of mass m, and a proton of mass mp =1836 m,, are moving with the same spr_-od.

A
The ratio of their de Broglie wavelength M will be :
Aproton

Options :

70819163357.

70819163358, 1836

70819163359, 1836

70819163360. 718

Question Number : 15 Question Id : 70819119398 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

m, DOQVISR B0} DAIGE(SIeMjo m,=1836 m, MITNISR BO} EalOEZ06M0 BEO
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A
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Aproton

Options:

70819163357,

70819163358, 1836

70819163359, 1836



70819163360, 718

Question Number : 16 Question Id : 70819119399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The wavelength of the photnn emilted b}-‘ a h}-‘drogon atom when an electron makes a transition
fromn=2ton=1 state is :

Options :

70819163361, 121.8 nm

70819163362, 194.8 nm

70819163363. 490.7 nm

70819163364, 7133 nm

Question Number : 16 Question Id : 70819119399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B0} eldkEsEM n=2-@ dlom n=1 -celds 60} MFo MSEMEMIORD B} Hen(WERND
aopRo oeldan)m eanoegoenlon meowenaiealio @oem :

Options :

70819163361, 121.8 nm

70819163362, 194.8 nm

70819163363. 490.7 nm

70819163364, 913.3 nm



Question Number : 17 Question Id : 70819119400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a message signal of frequency'f, " is amplitude modulated with a carrier signal of frequency
‘f. and radiated through an antenna, the wavelength of the corresponding signal in air is :

Options :
C

70819163365. fe = fo

L

70819163366, 1¢ © [m

L

70819163367.f;

C

70819163368.'ﬂ”

Question Number : 17 Question Id : 70819119400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f, @aoeioges e} memn milomd ‘. e elees 86) udand milonellad
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Options :
C

70819163365. fe = fo

L

70819163366. fe * fm



L

70819163367.f;

C

70819163368.'ﬂ”

Question Number : 18 Question Id : 70819119401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For extrinsic semiconductors; when doping level is increased;
Options :

Fermi-level of p-type semiconductor will go upward and Fermi-level of n-type
70819163369 semiconductors will go downward.

Fermi-level of p-type semiconductors will go downward and Fermi-level of n-type

~20819163370. semiconductor will go upward.

20819163371. Fermi-level of p and n-type semiconductors will not be affected.

Fermi-level of both p-type and n-ty pe semiconductors will go upward for T > T;; K and

downward for T < TI_. K, where TI_. is Fermi temperature.
70819163372.

Question Number : 18 Question Id : 70819119401 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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20819163369, M00ALaleIksBRIeS Sandal-afll @oevwianio Galodo.
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70819163370.

70819163371 1" n—s}msg:]‘ @PDAL 20 ElHTRaNS Handdl-ailaiow mmauﬁlqesﬂg.

p, n-68sq] @edAED.2belmBales fanddl-aflal T > T, K epeemelch ojseeeiwisn)o

T < T K, @pesmeslad @oewidnio Galddlo. oal@ Ty eanddl-moainilai@osn.
70819163372.

Question Number : 19 Question Id : 70819119402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List II.

List I List 11
a) Rectifier (:
b) Stabilizer (
c) Transformer (i) Used to remove any ripple in the rectified output voltage
d) Filter (

i)  Used either for stepping up or stepping down the a.c. voltage

11

L

Used to convert a.c. voltage into d.c. voltage

=

(

(

(

( iv) Used for constant output voltage even when the input voltage
or load current change

Choose the correct answer from the options given below :
Options :

20819163373, (@)-(ii), (b)-(i), (0)-(iii), (d)-(iv)
20819163374, (@)-(i), (B)~(iv), (c)-(0), (d)-(iii)

70819163375, (@)-(i), (b)-(1), (c)-(iv), (d)-(iii)

70819163376, @), (D)(iv), (c}-(), (d)-(ii)

Question Number : 19 Question Id : 70819119402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(d) adadpd (iv) Malig cmdesezo celon &0c @m0 Mo mudeaow

875043 eauotdeslmonll palcwacdenm).
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Options :
70819163373, (@) (i), (b)-(1), (¢)-(iii), (d)-(iv)
70819163374, (@-(i1), (B)-(iv), (€)-(1), (d)-(iii)

70819163375, (@)-(ii), (b)-(1), (c)~(iv), (d)-(iii)

70819163376, (@ (iid), (B)(iv), (c)-(1), (d)-(ii)

Question Number : 20 Question Id : 70819119403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The truth table for the Dllowi_ng Ingic circuit is :

Ae }
T

B =
Options :

70819163377.



0 0 0

0 1 1
1 0 1
1 1 0
A B b |
0 0 1
0 1 0
1 0 0
1 1 1
70819163378.
A B b §
0 0 1
0 1 0
1 0 1
1 1 0
70819163379.
A B Y
0 0 0
0 1 1
1 0 0
1 1 1
70819163380.

Question Number : 20 Question Id : 70819119403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



®IOPOBNS OGBS Crl0Eld: Muddslan siem esenlld @men :

Ae [
o
) Y
5
B e L A
Options :
A B Y
0 0 0
0 1 1
1 0 1
1 1 0
70819163377.
A B ¥
0 0 1
0 1 0
1 0 0
1 1 1
70819163378.
A B Y
0 0 1
0 1 0
1 0 1
1 1 0
70819163379.
A B ¥
0 0 0
0 1 1
1 0 0
1 1 1

70819163380.



Physics Section B

SectionId: 708191833
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911113
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819119404 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two particles having masses 4 g and 16 g respectively are moving with equal kinetic energies.
The ratio of the magnitudes of their linear momentum is n : 2. The value of n will
be

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819119404 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



@m0 4 g, 16 g agm] DIQIHRIER 06N dhemlddd Mial nafledodzmpenies
emudlkea e, mral@es coalw apsran wldlniemeBalns @miald®mo n : 2
apém. n-6@ afle epwidleno

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819119405 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The initial velocity v, required to project a body vertically upward from the surface of the
earth to reach a height of 10R, where R is the radius of the earth, may be described in terms

: x ;
of escape velocity v, such that v; = 1= 5 ve. The value of x will be

VY
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119405 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

R gjdlw)es @poenoemsld @jdlwes dadlmammlc almmie 10R sweodlc an)
amimalam enao aysslead) alleduals000d @RNINEE (I9ME ADEUNO . ag)Tm

=
LM (CANETeM v, atolat® o, = A\Ji x v, agm dafldlad afludlence. x o
: 1y

alle oo @ERdanko.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119406 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The percentage increase in the -;pec-d of transverse waves pmduced in a stretched string if

the tension is increased by 4%, willbe %,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119406 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

aefla)) osgle ey enlofless aelagmeoc 4% adallallojom, eowld @g@
@OMYaIM0 MONETBINS COLNMAIEleeodh)m rmaom wudabmaer %,

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 24 Question Id : 70819119407 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IfP xQ=Q x P, theangle between P anda is 0 (0" < 0 < 360%). The value of ‘6" will be

L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819119407 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
PxQ=0Qx Fa@mmﬂm‘ﬂ, b (0° <0 <360° agyma P, 5 ag)MICIeS HSUH 88
eH0emanoem @@ ‘0’ @es aller eadldenio ‘

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119408 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A reversible heat engine converts one-fourth of the heat input into work. When the
temperature of the sink is reduced by 52 K, its efficiency is doubled. The temperature in
Kelvin of the source will be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119408 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
80} M sneml @alw(mo aaln aidanm moaedlaf moeleeaom ol emlwodss]

mopiM). apafleal milwlan malilel 52 K dioaikesemiond eralam exnm ses@ads)mj,
eomqiedmio miailedd (esdaldad)  po @em.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819119409 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two small spheres each of mass 10 mg are susponded froma point }.‘ﬁ, threads 0.5 m Inng.
They are equally charged and repel each other to a distance of 0.20 m. The charge on each of

¢ ik —8 :
the sphere is 1 X 10"°C. The value of ‘a’ will be

[Given g =10 ms 2]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119409 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

05 m 0flgmes 2l0sinid palewoudlaf 10 mg moqy almags ®es eaidle cnogmB@d
o sl igldlanymy @ool @e)moe 210d e.aidmmio alnmiaido 0.20 m BJOEEHWHS)

Al datlan)mmmosm. 600 CNIROTIR 068 _rua@a“% x 107°C @pen. ‘@’ es afla

eplldlenio

[g=10 ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119410 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two identical conducting spheres with negligible volume have 2.1 nC and - 0.1 nC charges,
respectively. They are brought into contact and then separated by a distance of 0.5 m. The
electrostatic force acting between the spheres is o MU

1
Given : 4me,= —— Sl unit
[ " 9x10° ]

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119410 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@OCUNEMIEHOOM (Uja[HDIE] 6N MAIM ERIaD GNIREBREE WLNO®™o 2.1 nC,

0.1 nC gy 2l0dg)n@d §6nE. Mmoo mmudaamuld admoemiumalm) eatdo
0.5 m. BJeemmH @RI 0 cnoasmBiddiswlm icdamlenm mudo aaneym
ouelo @@em’  x1077N.

. _. ]' )
[4mey= - SI @emig]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819119411 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The peak electric field produced by the radiation coming from the 8 W bulb at a distance of

T IPe
- \’{—} —. The c-fftcmncw, of thebulbis 10% and it is a point source. The value of

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819119411 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10 m @esHnalwies &) 8 W eudellm, 10% sdam®ic, @OMOIN) Galdwlad
e omquIaneMeEsidd, @i mujtislenomd sdleim escgym aembeierile agralie

X ppc i o
dm—} — @oem. x 6 alleioem
™ m ’

podm alla 0
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819119412 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A current of 6 A enters one corner P of an equilateral triangle POR having 3 wires of resistance
2 () each and leaves by the comer R. The currents "'1 in ampere s ____

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819119412 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

6 A 988 60} HOUAI® Ao 20 (alallenowe allmo 988 3 emile®d Hes 6o} e
(@lesoemo PQR 6@ P agom mjeidld (el R agim mpel alyl aljosomaiss
GaIOCU)M]. OOAUBYD (aldansmedd i) (eamiledad) ey 9o @oem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819119413 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The wavelc-ngth of an X-ra}-' beam is 10 A. The mass of a fictitious particle having the same

3 ., % :
energy as that of the X-ra}-' photons is ;h kg. The value of x is

(h=Planck’s constant)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819119413 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

&} X- alleloamadad modnesatealo 10 A @em. X-afl#loem ¢an0e50msa)6s @rem

£(b20 988 B0} MBI ld demlhwes o % h kg @mem. x 6108 Alleiwosm
(h=gJos cudieoso)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191834
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80



Mark As Answered Required?: Yes

Sub-Section Number : 1
Sub-Section Id : 7081911114
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819119414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among, the fol[nwing species has unequal bond Iengt_hs ?

Options :

K0F4
70819163391.

SiF,
70819163392.

70819163393. =y

BE,
70819163394,

Question Number : 31 Question Id : 70819119414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
®06Pw BRI @meNme0e® cenUoens MIgaBd oaam ofaileioem ?

Options :

4

Xe 4
70819163391.

SiF,
70819163392.

70819163393. 24



BF,
70819163394,

Question Number : 32 Question Id : 70819119415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of Ca(OH), in water is :
[Given : The solubility product of Ca(OH), in water=>5.5x10"9]

Options :

70819163395, 1-11x10

70819163396, 1-11 %10~

=2

70819163397, 1-77x10

70819163398, 1.77x10~°

Question Number : 32 Question Id : 70819119415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i

. @Eoem
[Ca(OH), o@ zewmlea cmoeymieldl elowds 55x10°6 apem agom’
el dleeymy. |

zeiewleel Ca(OH), oM cemmjo _

Options :

70819163395, 11110

&

70819163396, 1-11 %10

I

70819163397, 177 >* 10



70819163398, 1.77x107°

Question Number : 33 Question Id : 70819119416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is FALSE for hydrophilic sols ?
Options :
708191633909. They do not require electrolytes for stability.

70819163400. These sols are reversible in nature.

70819163401, Iheir viscosity is of the order of that of H,O.

70819163402. The sols cannot be easily coagulated.

Question Number : 33 Question Id : 70819119416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
eeancoad el crvogleadsnidl ol moey madelwldenim mimoaimdgd ampow s

afy® ?
Options :

70819163399 @ROLWIES crud om @i se) DEIHE(SI66) BN IhE16)S mmmo%aﬂgg

70819163400. @ERCLIWIHS TMUEEMo 630) @EGJJG;]UEJD mer%mmmmaam.

70819163401, FOU@IOS allmiesomigl H,O e} eobabdimy quamoen.

70819163402.



CORIBHOR QUROD af)Bln OB HHOwImiealq .0l &HYlalg.

Question Number : 34 Question Id : 70819119417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of bond dissociation enthalpy of halogens is :
Options:
70819163403, 12~ > Bro> I

70819163404, 12~ Bra> (> Fy

70819163405, —2” Bra” Fo> I

ClL,>F,> Br,>
70819163406, ~2 27 P27 %2

Question Number : 34 Question Id : 70819119417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aN0RIZMIHRINS eeoens allaaism ag)Mdloodia |wies Ol (@oo af® ?

Options:

70819163403, 12~ Ch> Bro> 1,

70819163404, 12~ Bra> (> Fp

70819163405, —2” Bra” Fo> I

ClL,>F,> Br,>
70819163406, ~2 27 P27 %2



Question Number : 35 Question Id : 70819119418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The method used for the purification of Indium is :
Options :
70819163407, Van Arkel method

70819163408, |duation

70819163409, Zone rr_-fining

70819163410. vapour phase refining

Question Number : 35 Question Id : 70819119418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oo vjalle:dl6).0lS|ean00d Salewouileanim (allkle apmosm ?
Options :

70819163407, (oM EDAOHG HOETHAS

70819163408, Ell@dhjadd

70819163409, €M2end desandiess

20819163410, EHH® @My’ Glosaadles

Question Number : 36 Question Id : 70819119419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Water does not produce CO on reacting with :
Options:

70819163411. =y

70819163412, ©

o,
70819163413. =

C,H,
70819163414,

Question Number : 36 Question Id : 70819119419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®06¥ alo@imMmaidiad 2einmod (cudenla] CO §enenemE af® ?

Options :

70819163411. H,

70819163412, ©

Ia

70819163413.

C,H,
70819163414,

Question Number : 37 Question Id : 70819119420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement 1 :

aand 5 forms of sulphur can change reversibly between themselves with slow heating or
slow cooling.

Statement I :
At room temperature the stable crystalline form of sulphur is monoclinic sulphur.

In the light of the above statements, choose the correct answer from the options given below :
Options:
70819163415, Both Statement | and Statement 1l are true.

70819163416. Both Statement I and Statement Il are false.

70819163417, Statement 1 is true but Statement 11 is false.

70819163418. Statement 1 is false but Statement 11 is true.

Question Number : 37 Question Id : 70819119420 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®O6P O6M1E) [ IMImOCLMeTD Ml l@lenynmy.
(adro@macum 1 :

e 21)s0dflewo, memiafleald o« Mdand, B MBand oMl vjalimes mazld
oadldd prednald wdaudommoe 6.algom @l

(Jo@macum 11 :

@ormdlay oatmnled m@andlen @lgeeeaimd @lalo, caoeemo gl m@and erem.
ImmonIMdread)Claf moay maalouwia i tdleow semoo HMOETMNS e db.
Options :

70819163415, HM@IQUMS&G 1, 11 ag)arial vadl@osnm

almimacumaned 1, 11 agoriod exmooeny
70819163416. ¢ °6) S

20819163417, H@OQUM I dlwlo, 11 emEI@o6T



70819163418, ldmi@mocum 1 emge, 11 tedl@ymosm’

Question Number : 38 Question Id : 70819119421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major components of German Silver are :
Options :

70819163419, T4 Zn and Ag

70819163420, C1 Zn and Ni

70819163421, C¢ Cuand Ag

70819163422, 2 Niand Ag

Question Number : 38 Question Id : 70819119421 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2o mildcudiesl (plwam caIsHhaBd aga®mgldo ?

Options :

70819163419, " 21 20 Ag

Cu, Zn ©o Ni
70819163420.

T A
70819163421, —o "1 20 A8

Zn, Niso A
70819163422, = M 20 A8



Question Number : 39 Question Id : 70819119422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In which of the following order the given complex ions are arranged correctly with respect
to their decreasing spin only magnetic moment ?

(i) [FeFgP™ (i) [CoNHz)P* (i) [NiCl*~ (iv) [Cu(NHj)P*
Options:
70819163423, (1) > (iii) > (iv) > (ii)

70819163424, (i) > (i) > (i) > (iv)

70819163425, (L) > (iv) > (if) > (3

70819163426, (1) > (1) > (iid) > (iv)

Question Number : 39 Question Id : 70819119422 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@069 OTIElE6)M Ghdog dmdas @RS Mialli aaenell avimalke casafismains
IO (DT (hldhdlda))b.
(i) [Fel?ﬁ]3 (i) [fCo»(I\]Ha){.J]3 b (i) [NiCI4]3 (iv) [Cu(NH3)4]3*

Options :
70819163423, (1) > (iii) > (iv) > (1i)

70819163424, 1) > (i) > () > (iv)

70819163425, (1) > (v) > (i) > (1)

70819163426, (1) > (1) > (iid) > (iv)



Question Number : 40 Question Id : 70819119423 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :

The pH of rain water is normally ~5.6.

Statement 11 :

[f the pH of rain water drops below 5.6, it is called acid rain.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :
70819163427. Both Statement I and Statement 1l are true.

70819163428. Both Statement | and Statement 1l are false.

70819163429, Statement 1 is true but Statement 11 is false.

70819163430. Statement 1 is false but Statement 11 is true.

Question Number : 40 Question Id : 70819119423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
06 (MMM @midken)mm).

(I@mICUD 1 : avecugadled pH mpeljo mowonem@oel ~5.6 @oer.
(dod@ocum 11 : avecigamiilan) pH ajelo 5.6 -6 mofmodd mallom eomial oy
ag)m) aflglanjo.

mmoumsngaldl ®ey mdslolgiessld ol edeiw  poemeo
M OETEETITS )86 db.
Options:

20819163427, HM@OQIM I, 1T ag)arial codlaosm



70819163428 l[doo@mocum I, 11 f)Jg}[‘I‘I"ﬂE'LI Qlalel )

20819163429, ldMmocum 1 wedl@o, Il &A@

70819163430, lM@IQUM 1 o®@QI0, 11 ddl@j@osny

Question Number : 41 Question Id : 70819119424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound is added to the sodium extract before addition of silver
nitrate for testing of halogens ?

Options :

70819163431, Hydrochloric acid

70819163432, Sodium hydroxide

70819163433, NNitric acid

70819163434, AAmmonia

Question Number : 41 Question Id : 70819119424 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

an0elzm)ed46)88 esgld, mildaud samesglm ajal emoulwe agidmisodeelds)

C21BME ag) ?

Options :

70819163431, ©OAOE(WIEEIles @RI

20819163432, VW @o OGRS U



70819163433, 66M(Sld: @RIl

70819163434, @vemoeN@

Question Number : 42 Question Id : 70819119425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The major product of the following reaction is :
NO,
® S

H,S0,

o

Options :

NO,
70819163435. i

@)\fmz
70819163436.

NO,

70819163437. @/\)\

70819163438



Question Number : 42 Question Id : 70819119425 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

00 AMaIUdEDMETOal (WM &@alMo agw ?

NO,

/I\/
B
H,50,

Options :

70819163435

[::::£>“iiti?
: . _~No,
70819163436.
NQO,
70819163437 [:::]ffhnglhh
@j;

Question Number : 43 Question Id : 70819119426 Question Type

70819163438

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product of the following reaction is :

Ho/CO
Rh cata]}-’st

Options :

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



70819163439. 3

70819163440.

70819163441, CHaCHCH=CH—CHO

CH,CH,C==CH,

70819163442. CHO

Question Number : 43 Question Id : 70819119426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
D0 Ml UB@DMETIOLl (alwom @almmo af® ?

H,/CO
Rh catalyst

Options :

708191634309.

70819163440.

70819163441, CHeCHCH=CH—CHO

CH,CH,C==CH,

70819163442. CHO

Question Number : 44 Question Id : 70819119427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The correct sequence of reagents used in the preparation of 4-11r0m0-2-niﬂ'oeth}fl benzene
from benzene is :

Options :

70819163443, CH;CGCIHAI‘CL—.;, Br?_f' AIB‘rar HND;;;;H_-;_SO;? ZII,’HCI

20819163444, CH,COCL/ AlCl,, Zn-Hg /HC], Br,/AlBr,, HNO,/H,50,

70819163445, Br,/ AlBr,, CH,COC1/AlClL,, HNO,/H,50,, Zn/HC1

70819163446, HNO;/H,50,, Br,/AlCl;, CH;COCl/ AlCl;, Zn-Hg/HCI

Question Number : 44 Question Id : 70819119427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eenindmildl@ il 4-ceruoema-2-6emesoag@dled eeidmilid ©emsnm ERUMINOW
dleug@i®aes @il @do aR® ?

Options :

70819163443. CH3COCI/ AICL,, Bry/ AlBrs, HNO,/H50,, Zn/HCI

20819163444, CH,COCL/ AlCl,, Zn-Hg /HC], Br,/AlBr,, HNO,/H,50,

70819163445, Br,/AlBr,, CH,COCI/AICL,, HNO,/H,S50, Zn/HCI]

20819163446, HNO;/H,50,, Br,/AlCl;, CH,COCl/AICl;, Zn-Hg /HCI

Question Number : 45 Question Id : 70819119428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The correct order of acid character of the [ nIInwing cnmpnumfls ig :

OH COOH COOH COOH

NO, G,
: i il v

Options :

70819163447, 1> 11> 1I>1V

70819163448, I > >1>1V

70819163449, 1> I >1V>1

70819163450, 1V > HI> 11> 1

Question Number : 45 Question Id : 70819119428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

M6 HHISIAM Mo ememEales @iy mjsoniailen I (o apw ?

L COOH COOH COOH
NO, CH,
: I i v
Options :
70819163447, 1= 11> 1I>1V

70819163448, I > >1>1V



70819163449, 1> I >1V >1

70819163450, 1V > 1> 11>1

Question Number : 46 Question Id : 70819119429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is ‘X’ in the given reaction ?

CH,OH o
+ oxalic acid L X

CH,OH (major product)

Options:
CHO

70819163451, “11©

CH,OH

70819163452, G

ﬁ'f I,

70819163453. S

CH—OH

|
CH,
70819163454,

Question Number : 46 Question Id : 70819119429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



600 oMVl lCUdEBHMEEIE ‘X agnmosmy ?

CH,OH .
| + godsmuoelles mpmilay —210°C X

Options :

CHO

70819163451, “11©

CH,OH
CHO

70819163452.

CH,

70819163453. CHy

CH—OH

|
CH,
70819163454.

Question Number : 47 Question Id : 70819119430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO;, H,50, Al
: - + +
288 K R
el
NO,
(A) (B) (©)

Correct statement about the given chemical reaction is :
Options :

70819163455, —NH,; group is ortho and para directive, so product (B) is not possible.



70819163456, Reaction is possible and compound (B) will be the major product.

70819163457. The reaction will form sulphonated pmduct instead of nitration.

Reaction is possible and compound (A) will be major product.
70819163458.

Question Number : 47 Question Id : 70819119430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO;, H,SO, N
- + +
288 K -
g’
NO,
(A) (B) (©

0D MM CUBEBDMEEM )Gl ol Al ImimocIm af® ?
Options :
20819163455 —-:\ng (Wwjal sodeamo- asoro A@osssial epaliimod. paalmo (B) mow)ag).

70819163456, mam:utmmr’t‘:mmmo MOIUWNDO e, (lUIDM @m%g:lm‘jo (B) m@mﬂm"]ﬁ&o_

ROMIBEMMETE@ HOMESAHMI0 aldhbo, MEBEa0dEEMaHu® MM o@dajmadem

70819163457, LMD,

20819163458, @ MlIUIB@DMO MOWIBIET, (IWOM B@ajMo (A) ARG S 0.

Question Number : 48 Question Id : 70819119431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Carb}-'larm_ne test is used to detect the presence of primary amino group in an organic
compound. Which of the following compound is formed when this test is performed with
aniline ?

Options :

NHCH;
70819163459, :::

CN
70819163460.
NC
70819163461. ::::
: _CONH,

70819163462.

Question Number : 48 Question Id : 70819119431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80dmarle mowjsmemsgloa onadl @val® miaflo@ momiwe eedlalsnomes
esguoem dobeniied @dlad esgy. eraflell® oalewaudla) 00 Hsgy 6.010mEh HeNEIdL)M
Mo@)dMo, e @mildlanmalm agmosm ?

Options :

NHCH;
70819163459, :::

CN
70819163460. ::::



NC
70819163461. :

CONH,
70819163462. :

Question Number : 49 Question Id : 70819119432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct structure of «-anomer of maltose ?

Options :
CH,OH CH,OH
H O_ H H O H
H b
H H H H
HO OH
70819163463. HO  OH HO  OH
H
€
HO
70819163464.
CH,OH CH,OH
H 0 H 0 H
H H
OH H DH H
HO OH
70819163465, H H OH

70819163466.



CH,OH CH,OH

H o R | H +—0 OH
H H
H H H H
HO H

OH OH HO OH

Question Number : 49 Question Id : 70819119432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
modesomiean a-@@emoaden wdlwow celsm af® ?

Options :
CH,OH CH,OH
H o H H 0. H
< :
H H H H
HO OH
70819163463. HO OH HO OH
H
«
HO
70819163464,
CH,OH CH,OH
H 4——0. H H +—0 H
H
OH H )_|<JH H
HO OH
70819163465. H OH H  OH

70819163466.



Question Number : 50 Question Id : 70819119433 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The identification of Ni2* is carried out by dimethyl glyoxime in the presence of NHEIDH.
Statement 11 :

The dimethyl glyoxime is a bidentate neutral ligand.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819163467 Both Statement I and Statement 1l are true.

70819163468. Both Statement | and Statement 1l are false.

70819163469. Statement 1 is true but Statement 11 is false.

70819163470. Statement 1 is false but Statement 1l is true.

Question Number : 50 Question Id : 70819119433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
600 (alImOCIMLUD Uayalldn .

(@ocum 1 : NH,OH o@ momlumld eewenewlad @ewidlo
oalewoudl.ojoem Ni2* afldla)dwomies asgy £.o1gma).
(adori@ocum 11 : neweaemiieh (ewodlo ey mysa, aaneaweny ellnod apen.

(avmoaImdefald], (dlwow sEmEe aR® ?

Options :
20819163467, HM@ocum I, 11 ag)miicy vedlaoen.

almimocum 1, 11 agoricy exm@oe.
70819163468. ( 9 $



20819163469, (HM®OAUIM 1 vadlwjo, 1T H®AI@OET.

ldimocum I emple, 11 vodlaymosm.
70819163470.

Chemistry Section B

Section Id : 708191835
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911115
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819119434 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider titration of NaOH solution versus 1.25 M oxalic acid solution. At the end point
following burette readings were obtained.

(i) 45mL (i) 4.5 mL (i) 44 mL
(iv) 44 mL (v) 44 mL

If the volume of oxalic acid taken was 10.0 mL then the molarity of the NaOH solution is
_ M. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819119434 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

NaOH enomlemodl, 1.25 M sodmoels epmiw soomlwes aase(Saumd
aldlnenani. ag)iday euloedd mey alo@ym allwedleyes epog dadlsms)add

&g,

(i) 45mL (i) 45mL (iif) 44 mL

(iv) 44 mL (v) 44 mL

oalewoudlaniems)mm eosmoels eamiaullend eegal 10.0 mL epeemel@, NaOH
eerlwps omgaddl _ M @pen). (om055)6m aljbemavos))

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119435 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The unit cell of copper corresponds to a face centered cube of edge length 3.5% A with one
copper atom at each lattice point. The calculated density of copper in kg/ m’ is

[Molar mass of Cu : 6354 g ; Avogadro Number=6.022 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119435 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

edr0n|dloq wielg amum &) eanm’ emveRial’ ayenl @pem. @i 8isro eldimy
ealowlofleo 80800 edoald @R, aguwed migo 35% A - go @RET. eddaldlod
OI3® demanossilwod @eei kg/m® _ epwidlen)o.

[rv3alm : Cu 6mogod moms 63.54 g ; AOCLIIEIWI Moo6l)=6.022 x 107
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119436 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Electromagnetic radiation of wavelength 663 nm is just sufficient to ionise the atom of metal
A. The ionization energy of metal A in k] mol lig (Rounded-off to the nearest
integer)

[h=6.63x10 s Is, ¢=3.00 x 108 ms 1, N, =6.02 % 102 mol l]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 53 Question Id : 70819119436 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A agm cenan@mlen) eap@Elem meneMM 621l &Hi®e 663 nm
MOoWeNBHLYMIER HOBMBINTd MOoo MEl@Idblo. EREBHMEOWEIT, Geldano
A - ©PS @@ONEMEMUD agmded ag® kj mol ' @pem ? (emagsem aldepmos))
[h=6.63x10"*Ts, ¢=3.00 X108 ms 1, N, =6.02 x 10> mol -]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119437 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Five moles of an ideal gas at 293 K is expanded isothermally from an initial pressure of
2.1 MPa to 1.3 MPa against at constant external pressure 4.3 MPa. The heat transferred in
this process is __kmol-1, (Rounded-off to the nearest integer)

[Use R=8314 ] mol K]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119437 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



293 K 9vaxononflenes, eoeml caod somanomaen® 2.1 MPa adgemla mlomjo
1.3 MPa adgamlcalss” eagemonmdamd epal, 4.3 MPa futaojndgeaslomalen
allemilaflay). 09 (WaeHd® oos00g0 6.0IQNalg ®ICI0DBRO (adlF) ag)®
k] mol ~'@meny ? (9mags)0m aljdemmosyy)

[R=8314 ] mol ~1K~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119438 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If a compound AB dissociates to the extent of 75% in an aqueous solution, the molality of the
solution which shows a 2.5 K rise in the boiling point of the solution is molal.
(Rounded-off to the nearest integer)

[Ky, =052 K kg mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119438 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AB ag)m auom)émo geimuila eialasemiond 75% allewogdanim). agsla alarie o
2.5 K .oy aoemlasim eowdeies emgoeldl cmo80@ Eoldlen)o.
(6®mogs)eMm aljbemavosy))

[K,=0.52 K kg mol ]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119439 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Copper reduces NO; into NO and NO, depending upon the concentration of

HNO, in solution. (Assuming fixed [Cu®*] and Py, = PNOE), the HNO, concentration at

which the tl‘.ernmd}-'namic tondency for reduction of NO\{ into NO and ND2 h}-‘ copper is

same is 10" M. The value of 2xis (Rounded-off to the nearest integer)

= '(; :.f_‘_ y.‘ﬁ :.-rl‘ﬁ :‘l“.l il ; 2 -
[Given, ECu”fCu 0.34 V, END;;NO 0.96 V, ENO;’[?JDJ 0.79 V and at 298 K,

g (2.303) =0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119439 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



eneridaa HNO, @es nousm@aomimdle) esiald, NO,~ am lenodmiledlaf
NO , NO, agmilau @l mogymy.  [Cu®*], Pyg=Pyo, agmiar mudleaowf
mldaojemiod, NO,~ em NO, NO, agavlal @oss]l mogamies e0n|0le R
omdeaoemalss nsedmM ®eladdsime HNO; »ouw® 10 M 9agea 096m.
ag)®@, 2x o) alel ag)i® ? (p®OZSIE aljdepavosl))

P il 0 — 0 Ok 0 . 9
[r0)alm, ECu“!Cu 034V, ENO{,‘NO 096 V, ENO;,‘NOE 0.79 V, 298 K olad,

? (2.303) =0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819119440 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The rate constant of a reaction increases by five times on increase in temperature from 27°C
to 52°C. The value of activation energy in k] mol - (Rounded-off to the nearest
integer)

[R=8314] K~1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819119440 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



£vaimonf 27°C -@ aflomy” 52°C @oas]l podamiemiond aa) mmuudemmoden cog
e06mau el assmow] pwdmm) ag)wlad, eoasElealaumd agmded k] mol !
epldanio. (HmIZSIEM aljbemmosy)

[R=8314 ] K ! mol ]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819119441 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, number of metal/s which can be used as electrodes in the photoelectric
cellis . (Integer answer)

(A) Li (B) Na (C) Rb (D) Cs
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819119441 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

269 6siemAUL]M, Candegd el (Sld: HMEIHElnel Heldkhe(sow @
DaleUSlannalSim EeanBM /8IS agfe ? (9MMeo aljdemmosywiad)
(A) Li (B) Na (C) Rb (D) Cs

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819119442 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The spin only magnetic moment of a divalent ion in aqueous solution (atomic number 29) is
_BM.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819119442 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

zeiendalelgs ao) aluteln mewoarad ‘miallid aoenel avngls eaoad ’
BM.

(@mepdlda: mmud 29)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 60 Question Id : 70819119443 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of compound/s given below which contain/s —COOH group is _
(Integer answer)

(A) Sulphanilic acid (B) Picric acid
(C) Aspirin (D)  Ascorbic acid

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819119443 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
®06¢ @ldlanim mowsmeesld@ ag)® agepeniith —COOH (o] 6’ ? (ammeo
aJ demamoyia )

(A)  ouddanondlellss apmilad (B) aflwls Epmiay

(Q) @priaddlad (D) momicdmodenis @pmios
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A



SectionId :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191836
5

Online
Mandatory
20

20

80

Yes

1
7081911116

Yes

Question Number : 61 Question Id : 70819119444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 o .
If for the matrix, A = { w, AAT=1, then the value of a? +p%is ;

e P
Options :

70819163481, 4

70819163482, !

2
70819163483. ~

70819163484,

Question Number : 61 Question Id : 70819119444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



: 3 =
A= { ;] agym eaglsmiled, AAT=1, @pwoad, o +pt agnaflan melo :
; 2

¢ X
Options :

70819163481, 4

70819163482.

2
70819163483. ~

70819163484, °

Question Number : 62 Question Id : 70819119445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a 33 matrix with det(A)=4. Let R, denote the it row of A. If a matrix B is
obtained by performing the operation R, — 2R, + 5R; on 2A, then det(B) is equal to :

Options :

70819163485, 1©

70819163486, 5

70819163487, °4

2
70819163488, 128

Question Number : 62 Question Id : 70819119445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



det(A)=4 @@ @0) 3x3 eaSleam’ epem’ A. A @s ith mloew R. agom
eoaUensielRidleanmy. 2A agm eaigiemiad R, — 2R, +5R, agm &0ql0c0atileyes
B agim en@asm eeeeomodd, det(B) agoma

Options :

70819163485, 1°

70819163486, 5

70819163487, °4

¥
70819163488, 128

Question Number : 63 Question Id : 70819119446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following system of linear equations

2x +3y+2z=9

3x+2y+2z=9

x—y+4z=38
Options :

70819163489. does not have any solution

70819163490. has a unique solution

70819163491, has infinitely many solutions

70819163492, has a solution («, 3, v) satisfying o [53 [ 1.13 =12

Question Number : 63 Question Id : 70819119446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

@069 ®dlenim eeall@ mmaIds|EIRdes),
2x +3y+2z=
3x +2y+2z=9
x—y+4z=8
Options :

&M emmoeLdl
70819163489. > IR

Be0 B) e ldlen)m)
70819163490.

20819163491, @ol Al dl@6TRa0W @PEM®ho HEMDETRUD

FB2+ 47 =12 anom@ edeeniaalm (o, B, v amn eEmOMIeNE
70819163492, & F RGFE 88I0M (o, B, ¥) ag)0™M OEDOM)

Question Number : 64 Question Id : 70819119447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If I, = |cot"xdx, then:

B e 1

Options :

1 1 1
are in A.P.

20819163493, 2 T1la I3 +1s Iy +lg

I2 +1,, 1, 15, 14 [ I-sa are in A.P.

4 '3

70819163494.

1 1 1
I, +Ig " Iy +15" T4+ I

are in G.P.
70819163495.

L, +1,, (I3 +1I5)% 1, +1 are in G.P.
70819163496, ~ v (+15)% I+



Question Number : 64 Question Id : 70819119447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ir
g
I, = Icmt”x dx, agelad :
%
Options:
1 1 1 L
TR IR T ag)milcu A.P. @ileiosm)
70819163493, = =* =TT SR TS
I,+1,, I,+1:, I, + I. apyilcu A.P. aileinem
70819163494, 2 ¥ 315 a6 %)
1 1 1 .
; ; agymilcd G.P. @ilelosm
Iy +I, I +15" Iy + 1,
70819163495, = :
I+ 1y, (I + )%, I + I agymilou G.P. aflenem’
70819163496, = 4 (I3 +15)% 14 +15 0g)

Question Number : 65 Question Id : 70819119448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

A function f(x) is given by f(x) = , then the sum of the series

5* +5

(39

....... Ffl —

fl 20 ) fl 20 ) fl 20 ) flx 20)

is equal to :
Options :

29
z

70819163497.



»
2
70819163498.

39
.
70819163499.

=
I\J'|\E_

70819163500.

Question Number : 65 Question Id : 70819119448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f(x) ag)(m aneda@® f(x) = ag)mm mnildleainmy) ag)seslad,

5* +5
f1 -)[] | l f| r}[‘] f| -)[*] """" f| 2[] | O.Q}[TI"'.I G.Lﬂmjﬂ.l.ﬂe}@ m&*ﬁ? O.Q}[TI"'.IIIE"

Options :

29

o
70819163497.

EC

2

70819163498.

39

2
70819163499.

19

e

70819163500.



Question Number : 66 Question Id : 70819119449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

som . ; -y — 2ag
Letaand g be therootsof x*— 6x—-2=0. Ifa, =a"~p" forn = 1, then the value of ————
Jdg
1S
Options :

70819163501.

70819163502.

-2

70819163503.

70819163504.

Question Number : 66 Question Id : 70819119449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x2-6x-2=0 agmailen ‘0;gm” @em o, p agndal. a,=a”-p", n = 1 ag@lad,
ayp ~ 2ag ;

T ag)maiiad miele ag)oma@ :
Options :

70819163501.

70819163502.

-2

70819163503.

70819163504.



Question Number : 67 Question Id : 70819119450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. W aX
The minimum value of f(x)=a"

b al "rt, where a, x = R and a > 0, is equal to :
Options :

70819163505, ' 1

1
a - i
70819163506.

70819163507.

2
70819163508.

Question Number : 67 Question Id : 70819119450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a, xeR, a>0, ag@@, f(x)=a® +al 2" agnailon &06mm mjelo agme :

Options :

a+1
708191635065.

g l
70819163506. %

.2 a

70819163507.



2a
70819163508.

Question Number : 68 Question Id : 70819119451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3log,.2x 2dog. 2x

d g~ Dhe + Hg 75

The integral _[ o
2 a

- - } T . -
e dlogex _ 7 2logs dx, x >0, is equal to :

(where c is a constant of integration)

Options :

log.|x2+5x—7]+c
708191635009. &

. 2. B~
70819163510, 1108el X" 13X 71 ¢

1 " ;

fIDgFI-ISI 7|+
70819163511.

log, Vi +5x -7 +c
70819163512.

Question Number : 68 Question Id : 70819119451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C_H]ug 2% 2log . 2x

b ooe
eil]tjgi“l- | 503](:59.1: ?Dzlug?x

dx, x> 0 ag)om eoelny’ ®mjeymnow) :

(c agym@ someled qudloalcmoem)

Options :

=

log | x2+5x—7|+¢
708191635009. '

J ) et
70819163510, 1108l ¥ +ox 7|+ c



1
110&, x2+5x—7|+c
70819163511.

log, Vx* + 5x
70819163512.

Question Number : 69 Question Id : 70819119452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a, B € R are such that 1-2i (here *= —1) is a root of z2+az +B =0, then (a — ) is equal
to:

Options :

70819163513.

70819163514.

~]

70819163515.

~]

70819163516.

Question Number : 69 Question Id : 70819119452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2 +az +B=0 agmafloqd ‘05" eoem'1-2i. (v, f € R, 2=~ 1) ag@ldd, (a—p) egmna:
Options:

70819163513,

70819163514.



70819163515, *

=1

70819163516.

Question Number : 70 Question Id : 70819119453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve 1 2y3=2 intersects the line x +y=1 at two points P and Q, then the angle
subtended by the line segment PQ at the origin is :

Options :
= i
=~ + tan 1|i
2 \ 1)
70819163517.
- s
T _m 1]i|
2 \ —]:/'
70819163518.
- A
Z 4 tan lji
2 \ ?l‘/'
70819163519.
.'.'r &
— — tan 11 —|
2 3
70819163520.

Question Number : 70 Question Id : 70819119453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2427 =2 agm QUb®, x+y=1 ag)m™m eosue® P, Q agml aene enflasieesl]a
suemUlan)my. ag)@led, PQ afmm eoe, @DWOINCHIMBETIE HEMIHIM CHIMD agma) :



Options :

— +tan | —|

2 -—1'/'
70819163517.

» P

2 4 )
70819163518.

e B

— + tan ! l|

2 -3‘/'
708191635109.

o i

Ly S ) 11i|

2 '-3‘,.-'
70819163520.

Question Number : 71 Question Id : 70819119454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The shortest distance between the line x —y=1 and the curve 2= 2y is :
Options :

g
2
70819163521

2.1
ra] .

70819163522,

70819163523.

I

70819163524,



Question Number : 71 Question Id : 70819119454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

x-y=1 ag)im eoai@jo x2=2y oM Q&G ®alEISs afRnlo &I0mM B)em0e :

Options :

g2

V2
70819163521.

i

2.2
70819163522.

0
70819163523.

9

2
70819163524.

Question Number : 72 Question Id : 70819119455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"
) 4 R, o
A h}-‘porbola passes through the foci of the eIIipso % | j_h =1 and its transverse and

conjugate axes coincide with major and minor axes of the ellipse, respectively. If the product
of their eccentricities is one, then the equation of the hyperbola is :

Options :
9 2
x J_ _1
70819163525, © 16
2 2
o QN
9 4

70819163526.



%]

.J
A AW
9

70819163527.

x2—-y?=9
70819163528.

Question Number : 72 Question Id : 70819119455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"9 9

L5
25 16
peanaldesmogu)es (Samdmiznivmje emosmzieng masmalo afel.fmnilef engd,
0eaMmd MEHEEI000] @INJEhDo Cold)M). @AURIOS af)dammElmiglesos

(EMManelo BMNBEMEIER, HHa0ABEMIBWINS MBAIHODME) :

=1 oM afelafmion GandenMI&HEIRINS HSMCalddh)M™ &0}

Options :

2 2

2 RN
70819163525, ° 16

2 ]2

2z
70819163526.

12 ]2

5 a1
70819163527.

. Llrzzg

X
70819163528.

Question Number : 73 Question Id : 70819119456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A plane passes through the points A(1, 2, 3), B(2, 3, 1) and C(2, 4, 2). If O is the origin and

Pis (2, 1, 1), then the projection of Fp’ on this plane is of length :

Options :
[
V3
70819163529.
Iz
11
70819163530.
2
7
70819163531.
2
2
70819163532.

Question Number : 73 Question Id : 70819119456 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A(1, 2, 3), B(2, 3, 1), C(2, 4, 2) agyeml enllo3jeeslenes an) Melo &Sm)ealods)m).

iy Ay

0 agm epwoesliozjlle P agyma (2, -1, 1) agmaonsmexldd, 60 mamdieadss
oP )OS OllIBRBaON (figo agima :

Options :
: E
V3
70819163529.
11
70819163530.
2

70819163531.



70819163532.

Question Number : 74 Question Id : 70819119457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

li 1 n n ;
im | — 4 = — F——— | is equal to :
noeln (n+1)*  (n+2)°

Options :

1
70819163533.

1
;
70819163534, -
1
3
70819163535.
1
70819163536, =

Question Number : 74 Question Id : 70819119457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lim | L | <k | = ! | ag)Mna@ :
nseln  (n+1% m+2°% ; = :

Options :

1
70819163533.



b3 =

70819163534,
1
3
70819163535.
1
70819163536, =

Question Number : 75 Question Id : 70819119458 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n a group of 400 people, 160 are smokers and non-vegetarian; 100 are smokers and vegetarian
and the remaining 140 are non-smokers and vegetarian. Their chances of getting a particular
chest disorder are 35%, 20% and 10% respectively. A person is chosen from the group at
random and is found to be suffering from the chest disorder. The probability that the selected
person is a smoker and non-vegelarian is :

Options :
7

70819163537. &

70819163538.

s8R

70819163539.

14
70819163540, 4°

Question Number : 75 Question Id : 70819119458 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

400 eogis® 988 B0} (Miaflld, 160 eald alisbalelenimainio MVMYAOIE]HR
@RREmAURMEM. 100 ol aljmalellanmainjo MMPandlegimoem. el 140 Guld
el #0mMOIRL0 MIIANIEIHRIM0EN. BRLDSS GO} (ICEE (RIIMBHIN (almo
HEMHIMIER MOWY® QLo 35%, 20%, 10% ag)milssseameos. (jalldd dilmy seoeg
‘00srdawe’ @Y ag)SjeMmER0R (RIOIVEEIN (IBNUERMIW] &HeMs). ag@ld @eegano
al)iCuelle6 Do MmRanodl @rglomm Al ERNBIo 6.21QIMAINM mowy® :

Options :

7
70819163537. =

L.
70819163538,

58

70819163539.

14
70819163540. 45

Question Number : 76 Question Id : 70819119459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A be a set of all 4-digit natural numbers whose exactly one digitis 7. Then the probability
that a randoml}-' chosen element of A leaves remainder 2 when divided bj,-' 5ig:

Options :
1
5
70819163541.
2
9
70819163542.

70819163543.



122
207

70819163544.

Question Number : 76 Question Id : 70819119459 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

B0 2o®o 7 @WIZIER MIeled ag)epad Moalmains wemaoem A, A ol@d aflmy
OAIOIO® af)SiENM B0} @oo, 5 OBINE anlanealsiemiod Wladso 2
HIYMMICLOMBE MWD ag)MA) :

Options :
1
5
70819163541.
b
9
70819163542.
97

70819163543, ~

207
70819163544.

Question Number : 77 Question Id : 70819119460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If0<x y<wand cosx + cosy — cos(x + y) = —, then sinx + cosy is equal to :

b3 | W2

Options :



M| =

70819163545,
B
7
70819163546,
13
70819163547. 2
i3

70819163548, 2

Question Number : 77 Question Id : 70819119460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 ' v
0<x,y<m&o cosx + cosy — cos(x +y) = = §o @ERHWOIM, sinx + cosy afM®) :

Options:

.

A
70819163545,

B

g
70819163546,

143
70819163547. 2

358

70819163548, 2



Question Number : 78 Question Id : 70819119461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let x denote the total number of one-one functions from a set A with 3 elements to a set B
with 5 elements and y denote the total number of one-one functions from the set A to the
set A xB. Then:

Options :

2y=91x
70819163549.

-3
=
Il
I3
|
3
o

70819163550.

y=91x
70819163551.

70819163552.

Question Number : 78 Question Id : 70819119461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3 @OoMNEIBRIEE A af)M memamidd o 5 ®ronsIERIES B agim memmuiealsnies
QUsTD-QUEMD a0EBUMABRINS @O af)EN@IeT x agM@). nemo A @l@d aflmy wemo
A xB Qleals)gs cuem-cend adeBam&aI0s @6 af)eR@ET i agma. ag)id :

Options :

2y=91x
70819163549.

=
=
[l
I3
e |
]
o

70819163550.

y=91x
70819163551.

70819163552.



Question Number : 79 Question Id : 70819119462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: A

rnhvr[iruL_l[b]l rna_1|jf|w is equal to :
e

Options :
56

70819163553, -2

65

33
70819163554.

65

70819163555, °°

al.
(=]

70819163556.

Question Number : 79 Question Id : 70819119462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y

% A1 DA =1 . L e g ¥
cosec| 2cot™ (5) +cos” | = || agma) :

\ )
Options :
56
70819163553, -2
65

70819163554,



65

70819163555, °°

~]
o

70819163556.

Question Number : 80 Question Id : 70819119463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The contrapositive of the statement “If you will work, you will earn money” is :
Options :

70819163557, 10 earn money, you need to work

20819163558. You will earn money, if you will not work

20819163559, 1 you will not earn money, you will not work

If vou will earn money, vou will work
70819163560. - st

Question Number : 80 Question Id : 70819119463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@26 @MIBHHIM (INIDOCLIMEE) ‘Bh0endISo Galomiiglal ' e :
“ezmoell f.aIgyswonemeslad, ailstrid alemo qumuodlenio.”

Options :

20819163557, H6Mo umiodlenomd, ailsmdd ezoell 6.01giemo.



70819163558.

70819163559.

70819163560.

lemsd ezoell o.alodlag®ld, aflemsd aleme mumiodleeio.

oilemBdd altemo muruodlesjmilag@lad, dlemsd ezoel e.01gfg).

mlesBid alémo mumuodleniemmesiad, aiemdd emoel &.a1g)o.
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Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191837
6

Online
Mandatory
10

5

20
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1
7081911117
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Question Number : 81 Question Id : 70819119464 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A function f is defined on [ -3, 3] as

f

2
N Jminlx,] ¥l-2exyel

) o 2z]x| =3

f(x)

where [x] denotes the greatest integer = x. The number of points, where f is not differentiable

mi{-Ade. . ...

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819119464 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[ -3, 3] agymafl@d [ g anesaum

i

%
Jmin{x,i 1}, -2sx<2

[ [lx]] - 2<|x|l<3

flx) =

ag)m ofidalal.afldleeym) @eald [x] agoma’ x o mpenem eealld 6.010m0 AR
pdm aljdemmosywosm. (-3, 3) @ f Wlasomayiemid epaoem smilei@ngies af)ano

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819119465 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the curve, y=y(x) represented by the solution of the differential equation
(2xy? ~ y)dx +xdy=0, passes through the intersection of the lines, 2x ~3y=1 and
3x +2y=38, then |y(1)|is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819119465 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(2xy%~y)dx +xdy=0 ag)m Wlanodauyd macoseila emoslyaum, 2x-3y=1,
3x+2y=8 ag)m ersusid Mocwoglanimilsmn) jSl &Sm)eaIod)M y=y(x) agm

i

CUlHmWOET. af)@l@d, |y(1)| egme ___ @oem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819119466 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of two digit numbers ‘n’, such that 3" + 7" is a multiple of 10, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819119466 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



3"+ 7" agymm 10 -af niel@awl aIednm™ ‘n’ af)M EEMEHN MoRMRINS @6

]

ogelRo @,

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819119467 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x—(e* -1)

If lim ——;——— exists and is equal to b, then the valueof a—2bis
=0 ax(e™ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819119467 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

' I

. l] (LI} ' (1] (1] (]
lim ————— ag)Mm® ‘b’ cWIS M}eNDOEM af)hl®, a—2b @IS @elo af)mM®

0 ax(e™ - 1)

Response Type : Numeric
Evaluation Required For SA: Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819119468 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
If the curves x=y* and xy=k cut at right angles, then (4k)° is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819119468 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
=y, =k g UphoHd ol agesoad ojaledlenm), ap@ldd (4k)° agonal

)

@er.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819119469 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

-

The value of _[ 3x° —3x — 6|dx is T Tp— |

_—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819119469 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i

]‘11-3 3x —b|drogymnafled mjele _ @mem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819119470 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the remainder when x is divided by 4 is 3, then the remainder when (2020 )22 ig

divided by 8is ____

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819119470 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x-6M 4 60608 a0dlemiodd #lgim ullatiso 3 @eesmElad (2020 + 122 agmmaiiem 8
D06 anBke BMIORD gl (BlatiSo agmE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819119471 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A line 'T" passing through origin is perpendicular to the lines
r

it =31 t)? LR ZtJ'_f;:' F (A zt)E

—5 '

it =B+2%)i +3+2)] +Q2+sk

[f the co-ordinates of the point in the first octant on ‘I;" at a distance of Jﬁ from the point

of intersection of 'I" and ‘I;" are (a, b, ), then 18(a+b+c) isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 88 Question Id : 70819119471 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

epwonenllm)nlleles moey a&osiamildlen)m eosldbdds cloeninod] ‘' agmm e
bSO EaLI0dh M.

— A
r E

it =B+ +(-1+2)] + @+ 2k

A

— \

it =(B+2)i+(+2)] +@2+sk
T,'l, s mosaogaanm enlozialid ar 17 @ososl o) ‘adssl'd 9as 1’ o
o) enllosjauoem (a, b, ), ag@iad 18(a+b+c) agma _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819119472 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A line is a common tangent to the circle (x —~3)>+1?=9 and the parabola y?=4x. If the two
points of contact (a, b) and (¢, d) are distinct and lie in the first quadrant, then 2(a +c) is
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 89 Question Id : 70819119472 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

y2=4x ag)im aleoesnioadnlo (x—3)2+y?>=9 agm aymmainle Halom) H®IS) LAWY
80} CORIDIME. (a, b), (¢, d) agimdl calmmim emlla3end® calolf Boad eaoamsods
e apajloemiad muddecigiameld, 2(a+c agmma’ __ @em.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819119473 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0 M +3k and b =3; rH - k. If the area of the parallelogram whose

i X s R — . o ST
adjacent sides are represented by the vectors a and b is 83 square units, then 3 - b is
equal to _

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819119473 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



—
d

=i +aj+3k 8 b =3i —aj + ko @eW MalalIRFBA. a, b ag)

OOUMSOHROD MOoMElHTOR aldalgaos 83 21m). @G g, ag)sHla,

]

;E: agmE __ @Dem.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



